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4.1
(@) vlbi-usb-linux-1.18.tar.gz vibi-usb-linux-1.18
# tar xvfz vlbi-usb-linux-1.18.tar.gz
# cd vibi-usb-linux-1.18/
(b)
# make
# make install
(c)
cd /dev
mknod —m 666 utdsO ¢ 180 222
/dev/utdsO Linux udevd
Ogo00000o0oooooooooooo
(d) ! OO0O00OO@name-rdoOoooon
# insmod /lib/modules/2.6.26-1-686/kernel/drivers/usb/misc/utds.ko
5
make install

tds.ko /lib/molules/2.6.26-1-686/kernel/drivers/usb/misc/utds.ko
tdsio.h /usr/include/sys/tdsio.h

tdssdh.h /usr/include/sys/tdssdh.h

libtds.so /usr/local/lib/libtds.so
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6.1

1 open()

2. close()

3. read()

4. ioctl()

6.2

Linux Kernel 2.6

1. open()

O_RDONLY

int fd;

fd = open("'/dev/utds0", O_RDONLY);

2. close()
1 open()

close(fd);



3. read()
1 open()

int nread;
unsigned int buffer[1024];
int nbyte = sizoef(buffer);

nread = read(fd, buffer, nbyte);

4. ioctl()
1 1 open()

2 TDSIO_INIT

1PPS 4

ioctl(fd, TDSIO_INIT);

] FIFO
FIFO 2 TDSIO_BUFFER_CLEAR

ioctl(fd, TDSIO BUFFER CLEAR);



® 1PPS
1PPS 2 TDSIO_SYNC_1PPS
1PPS

ioctl(fd, TDSI0_SYNC_1PPS);

[
2 TDSIO_SET_TIME 3
(32bit)
17 (Obit-16bit) 00:00:00 18bit-27bit
9bit 11 3

TDS MAKE_TIME(day, sec) |day 1 1
sec 00:00:00

/* 2000/09/22 14:39:28 */
unsigned int time;
unsigned int day;
unsigned int sec;

day =31 +29 +31 +30+31+30+ 31+ 31+ 22;
sec = ((14 * 60) + 39) * 60 +28;
time = TDS_MAKE_TIME(day, sec);

ioctl(fd, TDSIO_SET_TIME, &time);




2 TDSIO_GET_TIME

(32bit)

TDS_GET_SEC(arg)

arg 00:00:00

TDS_GET_SEC_CARRY(arg) arg
0
1
TDS_GET_DAYS(arg) arg 1 1
TDS_GET_DAYS_CARRY(arg) arg
0
1

unsigned int time;
unsigned int day;
unsigned int sec;

ioctl(fd, TDSIO_GET_TIME, &time);

day = TDS_GET_DAYS(time);

TDS_GET_SEC(time);

sec

2
(32bit)

unsigned int year;

ioctl(fd, TDSIO_SET_YEAR, &year);

TDSIO_GET_YEAR




2 TDSIO_GET_YEAR 3

(32bit)
unsigned int year;
ioctl(fd, TDSIO_GET_YEAR, &year);
2 TDSIO SET_CHMODE
3 (32bit)
1ch TDSIO_SAMPLING_1CH
4ch TDSIO_SAMPLING_4CH

/* 4ch */
unsigned int chmode;
chmode = TDSI10_SAMPLING_4CH;

ioctl(fd, TDSIO_SET_CHMODE, &chmode);



TDSIO_SET_RESOLUTIONBIT
(32bit)

2
3
1bit TDSIO_SAMPLING_1BIT
2bit TDSIO_SAMPLING_2BIT
4bit TDSIO_SAMPLING_4BIT
8bit TDSIO_SAMPLING_8BIT
/* 1bit */

unsigned int resolutionbit;

resolutionbit = TDSIO_SAMPLING_1BIT;

ioctl(fd, TDSIO_SET_RESOLUTIONBIT, &resolutionbit);



2 TDSIO_SET_FILTER

3 (32bit)
16M TDSIO_SAMPLING_16M
8M TDSIO_SAMPLING_8M
4M TDSIO_SAMPLING_4M
2M TDSIO_SAMPLING_2M
Thru TDSIO_SAMPLING_THRU
/* Thru */

unsigned int filter;

filter = TDSI0_SAMPLING_THRU;

ioctl(fd, TDSIO_SET_FILTER, &Filter);
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2 TDSIO_SET_FSAMPLE 3

(32bit)
40kHz TDSIO_SAMPLING_40KHZ
100kHz TDSIO_SAMPLING_100KHZ
200kHz TDSIO_SAMPLING_200KHZ
500kHz TDSIO_SAMPLING_500KHZ
1MHz TDSIO_SAMPLING_1MHZ
2MHz TDSIO_SAMPLING_2MHZ
4MHz TDSIO_SAMPLING_4MHZ
8MHz TDSIO_SAMPLING_8MHZ
16MHz TDSIO_SAMPLING_16MHZ

/* 1WHz */

unsigned int fsample;

fsample = TDSI10_SAMPLING_1MHZ;

ioctl(fd, TDSIO_SET _FSAMPLE, &fsample);

2 TDSIO_GET_CHMODE
(32bit)

unsigned int chmode;
ioctl(fd, TDSIO_GET_CHMODE, &chmode);
if (chmode == TDSIO_SAMPLING_4CH) {

/* 4ch */
¥
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2 TDSIO_GET _RESOLUTIONBIT
(32bit)

unsigned int resolutionbit;
ioctl(fd, TDSIO_GET_RESOLUTIONBIT, &resolutionbit);
if (resolutionbit == TDSI0_SAMPLING 4BIT) {

/* 4Bit */
¥

2 TDSIO_GET_FILTER
(32bit)

unsigned int filter;
ioctl(fd, TDSIO GET_FILTER, &Filter);
if (filter == TDSI0_SAMPLING_THRU) {

/* Thru */
¥
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2 TDSIO _GET_FSAMPLE
3 (32bit)

unsigned int fsample;

ioctl(fd, TDSIO_GET_FSAMPLE, é&fsample);

if (fsample == TDSI0_SAMPLING_4MHZ) {

/* dMHz */
¥
2 TDSIO GET_STATUS
(32bit) 4
unsigned int stat;
ioctl(fd, TDSIO_GET_STATUS, &stat);
2 TDSIO_SAMPLING_START

ioctl(fd, TDSIO_SAMPLING_START);
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2 TDSIO_SAMPLING_STOP
PC open()

joctl(fd, TDSIO_SAMPLING_STOP);

DC
DC 2 TDSIO_SET_DCOFFSET
(struct tdsio) DC
(1CH) struct tdsio key 0 2CH
1

struct tdsio tdsio;

tdsio.key = 0; /* DCoffset 1 */
tdsio.value = 0x10;
ioctl(fd, TDSIO_SET_DCOFFSET, é&tdsio);

DC
DC 2 TDSIO_GET_DCOFFSET
(struct tdsio) DC
(1CH) struct tdsio key 0 2CH
1

struct tdsio tdsio;

tdsio.key = 0; /* DCoffset 1 */
ioctl(fd, TDSIO_GET_DCOFFSET, &tdsio);

tdsio.key = 1; /* DCoffset 2 */
ioctl(fd, TDSIO_GET_DCOFFSET, é&tdsio);
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FIFO
FIFO
2 TDSIO_BUFFER_RESET

ioctl(fd, TDSIO BUFFER RESET);
1PPS
1PPS
2 TDSIO_GET_1PPSINPUT

unsigned int pps;

joctl(fd, TDSIO_GET_1PPSINPUT, &pps);

if (pps == 0) {
/* no 1PPS Input */
}
2 TDSIO_GET_REFINPUT

unsigned int ref;

joctl(fd, TDSIO_GET REFINPUT, &ref);

if (ref ==0) {
/* no Ref Input */
}
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® 5/10MHz
5MHz 10MHz 5MHz
10MHz 0 2 TDSIO_GET_10MHZINPUT

unsigned int rhz;

ioctl(fd, TDSIO GET_10MHZINPUT, &rhz);

if (rhz ==0) {
/* 10MHz */
}
® AUX
AUX 2 TDSIO_SET_AUX 3 AUX
(struct tdsauxio) auxsize  AUX
auxfield AUX auxfield
256

struct tdsauxio tdsauxio;

tdsauxio.auxsize = 10;
memcpy(tdsio.auxfield, “ TEST AUX!” tdsauxio.auxsize);

ioctl(fd, TDSIO_SET_AUX, &tdsauxio);
® AUX
AUX 2 TDSIO_GET_AUX 3 AUX

(struct tdsauxio) auxsize  AUX
auxfield AUX

struct tdsauxio tdsauxio;
char buf[256];

ioctl(fd, TDSIO GET_AUX, &tdsauxio);
memcpy(buf, tdsio.auxfield, tdsauxio.auxsize);
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2
(32bit)

TDSIO_GET_ERROR
PC

wW(iN |+~ |O

FIFO

1PPS

10MHz

O |00 |N O

1PPS

1PPS

11

12

read()

read()

13

PCI

14

DMA

15

1/0

16

DMA

17

18

19

20

5vlbi-usb-linux/include/tdsio.h
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int err;
ioctl(fd, TDSIO_GET_ERROR, é&err);

2 TDSIO_REGIO_READ 3
(struct tdsio_regio)
address value
struct tdsio_regio region;
ioctl(fd, TDSIO REGIO_READ, &region);

printf("address=0x%02x, value=0x%02x¥n", region.address, region.value);

2 TDSIO_GET_VERSION

TDS_VERSION_MAJOR()

TDS_VERSION_MINOR()

TDS_VERSION_REVISION()

uint32_t version;

ioctl(fd, TDSIO_GET_VERSION, &version);

printf(“version=%02d.%02d.%02d¥n", TDS_VERSION_MAJOR(version),
TDS_VERSION_MINOR(version), TDS_VERSION_REVISION(version));
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® FPGA

FPGA
2 TDSIO_GET_VERFPGA
2 MAJOR 6 MINOR

unsigned int fpgaver;
unsigned char major,minor;
ioctl(fd, TDSIO GET_VERFPGA, &fpgaver);

major = fpgaver >> 6;

minor

fpgaver & 0x3f;

2 TDSIO_SET_BITSHIFT

/* 2 */
unsigned int bitshift;

bitshift = 2;
ioctl(fd, TDSIO_SET_BITSHIFT, &bitshift);

2 TDSIO_GET_BITSHIFT

unsigned int bitshift;
ioctl(fd, TDSIO_GET_BITSHIFT, &bitshift);
if (bitshift == 0) {

/* Bit Shift Setting is 0 */
¥

vibi-usb-linux/example sample.c
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8.1

) sys/tdsio.h

#include <sys/tdsio.h>

® |libtds
-Itds
8.2
UTDS
9260 TDS
1. TdsOpen()
1 Char NULL
“/dev/tds0”
tdsdev_t
NULL
2. TdsClose()
1 | tdsdev_t 1 TdsOpen()
int 0
3. Tdslnit()
1 | tdsdev_t 1 TdsOpen()
int 0

20




4. TdsClrBuffer()

FIFO
1 | tdsdev_t 1 TdsOpen()
int 0
5. TdsSynclpps()
1PPS
1 | tdsdev_t 1 TdsOpen()
int 0
6. TdsSyncTime()
1 | tdsdev_t 1 TdsOpen()
int 0
7. TdsSetTime()
tdsdev_t 1 TdsOpen()
tds_time_t
NULL 0s
int 0
tds_time_t
struct tds_time {
int sec;

int sec_carry;
int day;
int day carry;

}:

typedef struct tds_time tds_time_t;

sec 00:00:00

sec_carry 1
day 1 1

day_carry day 1
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8. TdsGetTime()

dsdev_t 1 TdsOpen()
tds_time_t
int 0
tds_time_t 7

9. TdsSetYear()

tdsdev_t 1 TdsOpen()
2 | unsigned int
int 0

10. TdsGetYear()

tdsdev_t 1 TdsOpen()
unsigned int
int 0
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11. TdsSetSampling()é

tdsdev_t 1 TdsOpen()
2 | tds_samp_t
int 0
tds_samp_t

struct_tds_samp {

int
int
int

int

freq;

unit; /* ‘K or ‘M’ */

width;
channel;

typedef struct tds_samp tds_samp_t;

freq, unit
freq unit
40kHz 40 ‘K
100kHz | 100 ‘K’
200kHz | 200 ‘K
500kHz | 500 ‘K
1MHz ‘M’
2MHz ‘™M’
4MHz ‘™M’
8MHz 8 ‘M’
16MHz | 16 ‘™M’
width
width
1 1
2 2
4 4
8 8
channel
channel
1
4 4

69270
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12. TdsGetSampling()”

13. TdsSetSampling2()

tdsdev_t 1 TdsOpen()

tds_samp_t

int 0
tds_samp_t ??

tdsdev_t

1 TdsOpen()

int

int

int

int

int

14. TdsGetSampling2()

tdsdev_t

1 TdsOpen()

int

int

int

int

int

15. TdsSetDcoffset()

DC
tdsdev_t 1 TdsOpen()
int DC

unsigned int

DC

int

79270
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16. TdsGetDcoffset()

DC
tdsdev_t 1 TdsOpen()
int DC
3 | unsigned int DC
int 0 0
17. TdsStatus()
tdsdev_t 1 TdsOpen()

unsigned int

int 0 0

18. TdsStart()

1 | tdsdev_t 1 TdsOpen()

int 0 0

19. TdsStop()

1 | tdsdev_t 1 TdsOpen()

int 0 0

20. TdsGetData()

4
tdsdev_t 1 TdsOpen()

2 | unsigned int
int 0 0
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21. TdsRead()

tdsdev_t 1 TdsOpen()

int

3 | unsigned char

int 0 0

22. TdsSetAux()

AUX
tdsdev_t 1 TdsOpen()
2 |int AUX
3 | char AUX
int 0 0
23. TdsSetAuxFile()
AUX AUX
tdsdev_t 1 TdsOpen()
char AUX
int 0 0
24. TdsGetAux()
AUX
tdsdev_t 1 TdsOpen()
2 |int AUX
3 | char AUX
int 0 0
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25. TdsGetAuxFile()

AUX
tdsdev_t 1 TdsOpen()
char AUX
int 0
26. TdsError()
tdsdev_t 1 TdsOpen()
int
char
int 0
27. TdsGetVersion()
tdsdev_t 1 TdsOpen()
2 int
3 |int
int 0

TDS_VERSION_MAJOR()

TDS_VERSION_MINOR()

TDS_VERSION_REVISION()

vilbi-sub-linux-1.18/example libcall.c
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